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(sin) (cos) (tan)

52° 0,7880 0.6157 1.2799
i 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764

55° 0,8192 0.5736 1.4281
D 1.1932 @ 1.1933 @ 1.1934
@1.1935 ® 1.1936
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tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (F4]) = 1.3764 - 0.7986 + 0.6157 = 1.1935
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@ cosx > tanx
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HF = V32 + 32 =32,
BH2 = (3V2)2 + 42 = V342 o]E 2

BH = V34
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V34 17

S.COSX = ﬂ = iﬁ
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Ze sin cos tan

54° | 0.8090 0.5878 1.8764

55° 0.8192 0.5736 1.4281

56° | 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@®)23.882 ® 29.107

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
o|ch.
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15. x ol T o124 2 11x +a = 0 9] T 20| sin90° + cos0°
A o), a 9 kS FohE?

@ @ 13 ® 12 @ 11 ® 10

OIAA A 2% — 11x+a = 0ol x = 2 B HASHH, 222 -
11X2+a=0
8—22+a=0,a=14




